2. HHIEE (1) (IE3C Pe)
1. (1)950—530=420 950—420=530
(2)230—150=80 150+80=230 B 80+ 150=230
2. (1)546 234 429 182
(2)536 76 638 398
3. (JEJTEAME—)190+540="730
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5.187—36—64
=187— (36+64)
=87

139+ 78+61
=139+61+78
=278

187498
=187+100—2
=285

456—99
=456—1004+1
=357
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297+105
=297+100+5
=402
o
297+105
=300+105—3
=402
245—101
=245—100—1
=144
115+123+185+77
=115+185+ (123+477)
=500
59999+5999+599+59+4
= (59999+1) 4 (5999+1) + (599+1) + (59+1)
=66660



6. 148+57+143=348(N\)

7. 54+634+46=163 (71)

8. (1)2500 — 235 — 365 = 2500 — (235 + 365) =
1900 (5K)

(2) 145+ 152+ 155+ 148 = (145+155) + (152 +
148) =600 (JE>K)  600+4=150 (JEK)

9. 758—256—244=258 (T-7.)

10. #7~: MRIEA P A B — 1

11. 380+2=190 (190+60) +2=125
125—60=65

XAE AL 125+65=190.

R W =M, M5
aiftkie 380, i RmE -+ +Mm=380, A
InE -+ % =380+-2=190, H—An%ttH—4
¥ 60, nE+ On%—60) =190, Heo— Mm%k
7 (1904-60) +~2=125, 75— IN#Z 126—60=65.



12. 974997+9997+3 X 3
=974997+9997+3434+3

= (97+3) + (997+3) 4 (9997+3)
=100+ 1000410000

=11100



